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‘Exam
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¢ 12 d. 136 ‘
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se squares are closest to 22.5.

c. 4,9 d. 16,125
5 whose squares are c[asesttoﬁ, 59.5
b 4,9 c 16,25 (d) 7.8
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te the value of ~/0.35, to the nearest tenth.

47 0.6 ¢ 0359 d. 09

A square has an area of 24.8 cm’, gy S
Determine the side length of the squarc, to the nearest centimeter. [ 41248 i
a 498 cm b. 4.9cm ¢c. S0cm i d./5em -

9, The lengths of the two leps of a right triangle are 6,7 cm and 3.2 cm.
Determine the length of the hypotenuse to | decimal place.
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"3'0-. This composite object is made using centimetre cubes. Determine its surface area. e
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is made of a 15-cm cube on top of a 30-cm cube.
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of a cylinder of diameter 4 cm and height 14 cm on tep of another cylinder of
ght 4 cm.

area of the object, to the nearest square centimeter.
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gular prism on top of a cylinder,

8 cm and square ends of side length 4
cm and height 6 cm, XM

of the object, to the nearest suare centimeter,
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21. Determine the length of side s.

S —

B.B8em

22, This object is composed of a cube on top of a right rectangular i
f gular prism.
Determine the surface area of the ohject. : & Bt -
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v 2250 "
. object, to the nearest square centimeter. ;
cm.,

cm, and height 9 cm, Yeclangotoe f?:’s’m
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he diagonal AC of rectangle ABCD, to the nearest centimeter,
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